Mu	ltip]	lying	bv	1	to 6	(C)
111 (1)	LLIP.	'J 8	$\boldsymbol{\mathcal{O}}_{\mathcal{J}}$	-		$( \cup )$

Name:	Date:	Score:

## Calculate each product.

$$1 \times 1 = \boxed{ 5 \times 6 = \boxed{ 6 \times 4 = \boxed{ }}$$

$$1 \times 4 = \boxed{ 4 \times 6 = \boxed{ }}$$

$$3 \times 4 = \boxed{\phantom{0}} \qquad 5 \times 2 = \boxed{\phantom{0}}$$

$$3 \times 2 =$$
  $2 \times 4 =$   $1 \times 6 =$   $2 \times 1 =$ 

$$6 \times 4 = \boxed{ 4 \times 5 = }$$

$$6 \times 5 = \boxed{\phantom{0}} \qquad 6 \times 3 = \boxed{\phantom{0}}$$

$$5 \times 4 =$$
  $5 \times 3 =$ 

$$3 \times 5 =$$
  $2 \times 3 =$   $6 \times 2 =$   $2 \times 5 =$ 

$$1 \times 5 = \boxed{ 5 \times 6 = \boxed{ }}$$

$$6 \times 6 = \boxed{ 4 \times 3 = \boxed{ 1 \times 2 = \boxed{ 3 \times 3 = \boxed{ }}}$$

$$5 \times 5 = \boxed{ 1 \times 4 = \boxed{ }}$$

$$4 \times 2 =$$
  $2 \times 4 =$   $4 \times 3 =$   $5 \times 3 =$ 

$$3 \times 3 =$$
  $4 \times 5 =$ 

$$3 \times 6 =$$
  $3 \times 4 =$   $6 \times 1 =$   $1 \times 6 =$ 

$$1 \times 3 = \boxed{ 6 \times 5 = \boxed{ 3 \times 1 = \boxed{ 6 \times 3 = \boxed{ }}}$$

$$4 \times 1 = \boxed{ 3 \times 6 = \boxed{ 5 \times 1 = \boxed{ 3 \times 5 = \boxed{ }}}$$

$$4 \times 4 = \boxed{ 5 \times 5 = \boxed{}}$$

$$4 \times 2 = \square$$

$$4 \times 4 =$$

$$6 \times 2 = \boxed{ }$$

$$6 \times 1 = \boxed{ }$$

$$2 \times 2 =$$

$$2 \times 3 =$$

$$2 \times 5 = \boxed{ }$$

$$1 \times 5 = \boxed{ }$$

$$4 \times 1 =$$

$$2 \times 1 =$$

$$1 \times 3 =$$

$$6 \times 6 =$$

$$4 \times 6 =$$

$$2 \times 6 =$$

$$1 \times 1 =$$

$$3 \times 2 =$$

$$5 \times 1 =$$

$$5 \times 4 =$$

$$3 \times 1 =$$

$$1 \times 2 =$$

$$5 \times 2 =$$

$$2 \times 6 =$$

$$3 \times 4 =$$

$$1 \times 5 =$$

$$1 \times 4 = \boxed{\phantom{0}}$$

$$3 \times 1 =$$

$$6 \times 3 =$$

$$5 \times 4 =$$

$$5 \times 2 =$$

$$5 \times 6 =$$

$$4 \times 3 =$$

$$6 \times 2 =$$

$$1 \times 2 =$$

$$4 \times 1 =$$

$$5 \times 5 =$$

$$2 \times 1 =$$

$$1 \times 1 =$$

$$2 \times 5 =$$

$$4 \times 5 =$$

$$3 \times 5 =$$

$$6 \times 6 =$$

$$6 \times 1 =$$

$$5 \times 3 =$$

$$1 \times 3 =$$

$$4 \times 2 =$$

$$6 \times 4 =$$

$$3 \times 2 =$$

$$2 \times 2 =$$